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HE1 20% HFE 6lni |fLAERT HEAE3 BRR—X2 FER A4A220 M1 4 RZAKL ~NvH—Fvo1l NvH-=20 2,120 3,190 4,260 5,310 7,450 9,570
EKE2 20% FE 6lnt |fLAERT EAE3 BRR—RX2 HFER A4A220 M1 4 RZAKL ~NvH—Fvo1l NvH-20 2,120 3,190 4,260 5,310 7,450 9,570
HE3 6% iES 23m |[bHEET KREA1 FRRA~R—X1 BEER BEHE6 B2 NH—Fvo1l NvH—6 740 1,050 1,480 1,790 2,530 3,270
HEL 8% HE 23m |fetEEr EEA1 BERRANR—X1 HHER AR NYH—=Fv o1 NvH—8 740 1,050 1,480 1,790 2,530 3,270
HED 8% HE 23m |fetEEr EEA1 BERRANR—X1 HHER AR NYH—=Zv 1 NvH—8 740 1,050 1,480 1,790 2,530 3,270
HE6 84 HE 23m |fetEET EEA1 BERRANR—X1 HHER AR8 NVYH—=Fv 1 NvH—8 740 1,050 1,480 1,790 2,530 3,270
BET 4%, HE 19m |Mb#r] MEmEmA1 R - AL HEER ARG N H=F v o1 NH—4 740 1,050 1,480 1,790 2,530 3,270
HE8 6% EE 19nmi EEN, INEEA R N H—=F v o1 N H—6 BRESE 740 1,050 1,480 1,790 2,530 3,270
HE9 14% HE 39m [fb#EET KAEAH2 BRAR—X1 AR1L N H—=Fv o1l N H—14 BT ERE 1,810 2,660 3,620 4,470 6,280 8,090
#E10 13% ES 35m [fbHEE] KEAE2 BRAR—X1 BHE13 EBEd Ny H—Fv o1 NrH—13 ZBRES 1,270 1,910 2,550 3,180 4,460 5,730
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